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Section : Reasoning Ability

Q.1 Eight classmates — A, B, C, D, E, F, G and H — are sitting around a round table facing the centre. A is not the
neighbour of E: C is third to the right of B; and H is second to the left of E, who is to the immediate right of C. F is not
the neighbour of either E or B. and is to the immediate left of G. Who is sitting to the immediate right of B?

Ans x1_ E

.C
s A
3

Question ID : 5096474544
Status : Answered
Chosen Option : 3

Q.2 Ina code language, FORWARD is written as GPSXBSE. How will you code REPLY in the same language?

Ans 1 QMZFS

X 2 FSQMZ
o 3. SFQMZ
X 4. MZFSQ
Question ID : 5096474541
Status : Answered
Chosen Option : 3
Q.3 What will be the value of the following expression if *+" means “addition’, *~" means “subtraction’, ‘~" means

3

‘multiplication’ and ‘=" means ‘division’?

80x5—-4+6+2

Ans x1_ 62
v 2 68
X 3. 66
X 4 64

Question ID : 5096474542
Status : Answered
Chosen Option : 2

Q.4
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Select the option that is related to the third number in the same way as the second number is related to the first number.

216205512 33

Ans x1. 11
X227
W3 8
X4 4

Question ID : 5096474536
Status : Answered
Chosen Option : 3

Q.5 Arrange the following words in the order in which they appear in an English dictionary.

Abacus | Arizona | Anatomy | About
4 1 3 2

Ans 9" 1. 2,4,3, 1
231,42
W3 4,231
K4 2,413

Question ID : 5096474538
Status : Answered
Chosen Option : 3

Q6 Select the option that will come next in the following sequence.

56, 64, 72, 80, ?
Ans x 1. 00
v 2 88
X3 84
X 4 82

Question ID : 5096474539
Status : Answered
Chosen Option : 2

Q7 Count the number of triangles in the given diagram and select the correct option.

Ans x 1. 15
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Question ID : 5096474551
Status : Answered
Chosen Option : 3

Q.8 Given is a statement followed by two courses of action. Assuming the statement to be true, decide which of the given
courses of action logically follow(s) from the statement.

Statement:

Some very serious frauds have been noticed in the Banking sector in India in recent times.

Courses of Action:

I. Regular auditing is needed to keep a check on the frauds.
II. Exemplary punishment should be meted out to the guilty.

Ans of 1. Both I and II follow.
X 2. Only II follows.

/< 3. Only I follows.
/< 4 Either I or II follows.

Question ID : 5096474550
Status : Answered
Chosen Option : 1

Q.9 Select the combination of numbers such that the corresponding letters when arranged accordingly will form a
meaningful word.

AT |R | M|O
gl2(4 L |3

Ans 51 1.4,5,2,3
V21,5234
X33,2,1,4,5
X 451,324

Question ID : 5096474547
Status : Answered
Chosen Option : 2

Qd1 Select the correct mirror image of the following word.

BLOOMBERG

Ans X' 1. BTOOWBEEC
X 2. Dg9M00149
X 3. BTOOMNEBEG
v 4 pgIAMMI001g

[ Question ID : 5096474549
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Status : Answered
Chosen Option : 4

Q.1 From the given alternatives, select the word that CANNOT be formed using the letters of the given word only as many
1 timesas they appear in the word.

DISASTER

Ans X 1. ASTER
v 2 EXTRA
X 3. IDEA
X 4. SISTER

Question ID : 5096474545
Status : Answered
Chosen Option : 2

S 3w g W T FY S BT S@er F eI

MOCKERY, RIDICULE, EARNEST, SCORN
Ans X 1. SCORN

X 2. MOCKERY

X 3 RIDICULE

v+ EARNEST

Question ID : 5096474553
Status : Answered
Chosen Option : 4

Q; Select the option that will replace the question mark (7) in the following series.

D4H, ESI, FelL, ?
Ans X 1. GTO
X 2 G7S
v 3 GIN
X 4 GTP

Question ID : 5096474552
Status : Answered
Chosen Option : 3

Q.1 Study the following pattern carefully and select the number that will correctly replace the question mark (?) in it.
4

Ans X' 1. 363
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W 2. 400
X 3. 386
X 4. 369

Question ID : 5096474548
Status : Answered
Chosen Option : 2

5
Ruble : Russia :: 7 : Maldives

Ans o 1. Rufiyaa
X 2 Taka
X 3 Yen
X 4 Lira

Q.1 Select the option that is related to the fourth term in the same way as the first term is related to the second term.

Question ID : 5096474535
Status : Answered
Chosen Option : 1

161, 173, 184, 207
Ans x1_ 184
X 2 161
W3 173
X 4 207

Qé1 Select the number that does NOT belong in the following series

Question ID : 5096474554
Status : Answered
Chosen Option : 4

MK g e

K o e FUF

X 2 Hqrematdr : fRRmamEEr
o HATCATERATH : Ihieed

U rafafm feed & ¥ 39 v oA & WO F A 3 g § B B

Question ID : 5096474546
Status : Answered
Chosen Option : 3
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F=ae@a el & Od+ &7 F 0|

TR0 | 38T g | TET & | Erfdren
2 1 4 3

Ans X 1.4,2.1,3

w213 2 4
K32 1,4, 3
X431, 4,2

Question ID : 5096474537
Status : Answered
Chosen Option : 2

Qé1 If | January 2018 was a Monday, what day of the week was 31 December 20187

Ans o 1. Monday
75 2. Tuesday
/< 3. Wednesday
/< 4 Thursday

Question ID : 5096474543
Status : Answered
Chosen Option : 1

Q.2 In a code language, APPEAL is written as 51. In the same language. how will vou code ACCEPT?
0

Ans x1_ 36
W2 48
X 3 52
X 4 43

Question ID : 5096474540
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 What is India’s rank in the 149 countries’ Gender Gap Index as per World Economic Forum’s Global Gender Gap
Report 20187

Ans X 1. ppgth
o 2 jggth
X 3. ggth
X 4. ggth
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Question ID : 5096474555
Status : Answered
Chosen Option : 2

Q2 Which British Viceroy partitioned Bengal in 1905?
Ans X 1. Lord Hardinge
< 2 Lord Chelmsford

« 3 Lord Curzon
< 4 Lord Irwin

Question ID : 5096474569
Status : Answered
Chosen Option : 3

Q.3 Who among the following tennis players has won the maximum mumber of Glam Slam tournaments in men’s tennis?

Ans 3 1. Andre Agassi

X 2. Rafael Nadal
« 3. Roger Federer
/< 4. Pete Sampras

Question ID : 5096474567
Status : Answered
Chosen Option : 3

Q.4 In December 2018, became the first state in India to have four international airports.

Ans X 1. Karnataka
& 2. Maharashtra
& 3. Tamil Nadu
o 4 Kerala

Question ID : 5096474559
Status : Answered
Chosen Option : 2

Q.5 In December 2018, the Nepal government banned currency notes of India
Ans X 1. above T 200

& 2 above T 50

X 3. above T 500

v 4 above T 100

Question ID : 5096474562
Status : Answered
Chosen Option : 4

Q6 WWhich of the following states has the largest number of Lok Sabha seats?
Ans X 1. Assam
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/< 2. Bihar
/< 3. Harvana
o 4 Maharashtra

Question ID : 5096474574
Status : Answered
Chosen Option : 4

Q.7 Name the city where the revolutionary organisation "Hindustan Socialist Republican Association’ was established in
1928 during India’s struggle for freedom.

Ans  of 1. New Delhi
& 2. Lucknow
X 3. Kolkata
& 4 Lahore

Question ID : 5096474570
Status : Answered
Chosen Option : 4

Q8 WWhich of the following sports is *Thomas Cup’ associated with?
Ans X 1. Tennis

X 2. Kabaddi

v 3 Badminton

X 4 Cricket

Question ID : 5096474566
Status : Answered
Chosen Option : 3

Q.9 Which country selected the Chinese character for *disaster” as its defining symbol for the year 2018?
Ans X 1. South Korea

& 2. Vietnam

« 3. Japan

/< 4 Mongolia

Question ID : 5096474563
Status : Answered
Chosen Option : 3

Q.1 In November 2018, which country appointed Major General Alenka Ermenc as the first female army chief, making her
0 the only woman in charge of a NATO country’s military?

Ans X 1. Albania
& 2. Lithuania
X 3. Slovakia
v 4 Slovenia

[ Question ID : 5096474561
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Status : Answered
Chosen Option : 2

Q1'1 Which country had established its rule over Goa in the 16t century?
Ans X 1. Netherlands
« 2. Portugal

/< 3. France
/< 4. Britain

Question ID : 5096474571
Status : Answered
Chosen Option : 2

Q2'1 In which city was the 37™ Senjor National Rowing Championship held in December 20187
Ans X 1. Ahmedabad

/< 2. Udaipur

X 3. Indore

v 4 Pune

Question ID : 5096474557
Status : Answered
Chosen Option : 2

Q.1 As of December 2018, which of the following nations was the top-ranked team in the ICC rankings for the men’s cricket
3 team?

Ans X 1. England
& 2. South Africa
v 3 India
& 4. West Indies

Question ID : 5096474565
Status : Answered
Chosen Option : 2

@' Hukum Singh was the Speaker of the Lok Sabha.
Ans o 1. Third

< 2 Tenth

/< 3 Seventh

& 4 sixth

Question ID : 5096474572
Status : Answered
Chosen Option : 2

Q.1 In November 2018, which country amended a weapons bill to ensure that it would not impact the right of the Sikh
5 compunity to possess and supply kirpans or religious swords?

Ans
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v . UK

& 2. Canada
X 3. Australia
X 4 USA

Question ID : 5096474560
Status : Answered
Chosen Option : 2

6  at re-skilling/upskilling people on digital skills?

Ans X 1. IIT Roorkee
« 2. IIT Madras
X 3. IIT Delhi
/5 4 1T Kharagpur

Q.1 In December 2018, with which IIT did the industry body, NASSCOM collaborate for its FutureSkills Platform targeted

Question ID : 5096474556
Status : Answered
Chosen Option : 1

Ans X 1. Bengaluru
« 2 Hyderabad
/< 3. Bhopal

/< 4 Gandhinagar

Q_{-1 In which city has India’s first private Unmanned Aerial Vehicles (UAF) factory opened?

Question ID : 5096474558
Status : Answered
Chosen Option : 2

Ans X 1. Gajapati Dynasty

75 3. Bhoi Dynasty

« 2. Eastern Ganga Dynasty

/< 4. Sharabhapuriva Dynasty

%1 The kings of which dynasty built the famous Jagannath Temple in Puri?

Question ID : 5096474568
Status : Answered
Chosen Option : 3

Ans X 1. Germany
/< 2. Spain
+ 3. Belgium

%1 ‘Which of the following nations won the 2018 FIH Men's Hockey World Cup?
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/< 4 Australia

Question ID : 5096474564
Status : Answered
Chosen Option : 3

%2 Who was the second president of India?

Ans X 1. R Venkataraman
o 2. Sarvepalli Radhakrishnan

/< 3. Giani Zail Singh

75 4 Gulzarilal Nanda

Question ID : 5096474573
Status : Answered
Chosen Option : 2

Section : General (English & Hindi)

Q1 Select the correctly spelt word.

Ans X 1. mantenaince

/< 2. mentainance
/< 3. maintenence
+ 4 maintenance

Question ID : 5096474583
Status : Answered
Chosen Option : 4

s g &
Ane X 1. qTEIR EETES FT HY & 9T S
X 2 e B AT &7 T ol
v o oy RBadiT e &= arer ereg
X 4 TIT WA HY & T U

Question ID : 5096474596
Status : Answered
Chosen Option : 3

* i ey @ BT
Ans g TETH

X 2 FRFA
X 3. HHT
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X 4 BT

Question ID : 5096474597
Status : Answered
Chosen Option : 1

Q4 Select the most appropriate option to fill in the blank.

The child was scared by sightof ~ snake.
Ans X 1. a, the

X2 aa

o 3 the, a

X 4. the, the

Question ID : 5096474576
Status : Answered
Chosen Option : 4

Q5 Select the option that expresses the given sentence in passive voice.

All these animals have shown remarkable intelligence.

Ans X 1.

Remarkable intelligence is being shown by all these animals.

W2

Remarkable intelligence has been shown by all these animals.
75 3. Remarkable intelligence had been shown all these animals.

/< 4 Remarkable intelligence was shown by all these animals.

Question ID : 5096474587
Status : Answered
Chosen Option : 2

Q6 Select the option that expresses the given sentence in passive voice.

Hasn’t Sandy’s smartness amazed you?
Ans X 1. Aren’t you amazed by Sandy’s smartness?
« 2. Haven’t vou been amazed by Sandy’s smartness?
X 3. Hadn’t you been amazed by Sandy’s smartness?

/< 4 Weren’t you amazed by Sandy’s smartness?

Question ID : 5096474588
Status : Answered
Chosen Option : 2
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o guit #r vE ¥ H#EF I AT @ T
A X1 v e H

X 2 39AT 3eeT H

X3 9Hy HAFR H

4 3T FHeER H

Question ID : 5096474603
Status : Answered
Chosen Option : 2

Q8 Select the most appropriate option to fill in the blank.

What was  weather like in Hyderabad?
Ans of 1 the

X2a

/< 3. No word required

X 4 an

Question ID : 5096474575
Status : Answered
Chosen Option : 1

W e #1 3Re W B ¢
Ans X fees & + afee

<2 oy + wfEe

X o 3R + med 3w

v 4w + fees

Question ID : 5096474602
Status : Answered
Chosen Option : 4

Q.1 ; - :
o Select the most appropriate option to fill in the blank.

I a bath when the telephone rang.

Ans X 1. have
& 2 had
« 3. was having

/< 4 have had

[ Question ID : 5096474579
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Status : Answered
Chosen Option : 3

% e T A T 2eR Ry A g =
Ans \’1_%35_1_

< 2. g

X 3 fFQwor

}{4.,—@33-

Question ID : 5096474598
Status : Answered
Chosen Option : 1

S Rrarar # 9ET 0= &N
Ans X 1 oI

v 2 =oTH

X 3 ogreEr

X 4 ogrEr

Question ID : 5096474593
Status : Answered
Chosen Option : 4

%1 Select the sentence which has an error,

Ans X 1. Fig and mulberry trees provide dappled shade.

X 2
I spy glimpses of life through archways that opened out onto courtvards.
5 3

I walk through the maze of Cairo’s narrow, winding streets.

o 4

Cries of hawkers, barks of strav dogs and the beeps of car horns all makes up the soundscape of the sun-baked
city.

Question ID : 5096474585
Status : Answered
Chosen Option : 4

Q.1 . . "
s Select the most appropriate option to fill in the blank.

He was so absorbed his thoughts that he fell a ditch.
Ans X 1. with, in
« 2. in, into

X 3. with, into
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X 4 into, in

Question ID : 5096474578
Status : Answered
Chosen Option : 3

% ST FEaa
S R
X 2 et & e 9y

v o ERT F gatea FeE
X 4 ST B AT 9

Question ID : 5096474600
Status : Answered
Chosen Option : 3

Q1
6

Mary said to Anju, “Tickets are not available for today’s show.”

Ans (1

Mary told Anju that tickets are not available for today’s show.

W 2

Select the option that expresses the given sentence in reported speech.

Mary told Anju that tickets were not available for that day’s show.

X 3

Mary told Anju that tickets were not available for today’s show.

4

Mary told Anju that tickets are not available for that day’s show.

Question ID : 5096474589
Status : Answered
Chosen Option : 2

Y Frpa g @ RS A = F o g @ e e FEed

Ans X1- aam QE

X 2 e e
W o doOH =S
X 4 TET A=

Question ID : 5096474590
Status : Answered
Chosen Option : 3

% wATE feg FEenr §

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




A o . grATfEeRTE @ dEeT
X 2 gfer &
X o THETE FIEAT
KX 4 TETE F AT

Question ID : 5096474604
Status : Answered
Chosen Option : 1

Q.1 ; . :
g Select the most appropriate synonym of the given word.

CHIDE

Ans  of 1. rebuke
X 2. rebuff
X 3 rebut
X 4 rebound

Question ID : 5096474580
Status : Answered
Chosen Option : 1

S A H EE T W N E
M T T

X 2 Frer LT

X 3. FTET AT
X 4 TFATH G2

Question ID : 5096474599
Status : Answered
Chosen Option : 1

S gaEreT 3 T7 T I ueg ey §
Ans x“.}]ﬁﬂlﬁﬂlﬁ

v 2 goEETEY g

X 3 FaATH e

X 4 Rene s

Question ID : 5096474594
Status : Answered
Chosen Option : 2
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The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part
from the given options. If vou don’t find any error, mark ‘No error’ as your answer.

Some shopkeepers / try make as much profit / as they can.

Ans X 1. as they can

o 2. try make as much profit

< 3. No error
/< 4 Some shopkeepers

Question ID : 5096474584
Status : Answered
Chosen Option : 2

Qéz Select the most appropriate ANTONYM of the given word.

FL.OURISH
Ans & 1. prosper
X 2 thrive
< 3. bounce
o 4 decline

Question ID : 5096474582
Status : Answered
Chosen Option : 4

% gedr FT qHgErE &
Ans X 1. TTOET

X 2 FOHA

X 3 gEm

o FHI

Question ID : 5096474595
Status : Answered
Chosen Option : 4

% e e ¥ A # B v B a2

Ans K 1. FyoryuT Teedr
X 2 gaT gadr
X 3 TEATH Hedr
v 4 TFar geelr

Question ID : 5096474601
Status : Answered
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l Chosen Option : 4 J

% T § @ 959 s aanT
Ans X1- 3_1',55

oy

o 3 grefr

K4 oy

Question ID : 5096474592
Status : Answered
Chosen Option : 3

YV =R § ¥ aow U= ET
Ans x1. E*ET

Jz.ﬁ%zn

X 3 aiE

X4 e

Question ID : 5096474591
Status : Answered
Chosen Option : 2

Q2 Select the most appropriate ANTONYM of the given word.

RADIANT

Ans  of 1. sorrowful
& 2. blissful
X 3. merciful
< 4 joyful

Question ID : 5096474581
Status : Answered
Chosen Option : 3

Q.2 Pauts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.
9
A. was killed in a big cat attack
B. near Arjuni village
C. A 60-year-old man
D. on Tuesday
E. just outside the Tadoba-Andhari Tiger Reserve

Ans X' 1. CDARE
X 2. CEDBA
X 3. CBEDA
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« 4 CABED

Question ID : 5096474586
Status : Answered
Chosen Option : 4

I have been noticing you
Ans o 1. since

X 2 from

X 3 by

X 4 for

Q3 ; - :
o Select the most appropriate option to fill in the blank.

last Monday.

Question ID : 5096474577
Status : Answered
Chosen Option : 1

Section : Computer Operation & Discipline

v The Original Jurisdiction of the Supreme Court indicates:

Ans of 1
x>
X
X

that no other Court in India shall have the power to entertain any such suit.

that the Supreme Court of India can issue direction to High courts and subordinate courts.

that the Supreme Court of India can interfere in administrative functioning of the government.

that the Supreme Court of India can take cognizance of any issue affecting the Citizen.

Question ID : 5096474645
Status : Answered
Chosen Option : 4

decided by:

Ans - X 1. gchool certificate
o 2. the Special Court

/< 4 civil surgeon

/< 3. parents of the Child

.2 If any question arises in any proceedings before the Special Court whether a person is a child or not, the issue will be

Question ID : 5096474657
Status : Answered
Chosen Option : 1

Q.3
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The Prime Minister shall be appointed by the President.

y The given statement is:

Ans X 1. correct but only when there is no clear majority.

/< 2. incorrect.

/< 3. correct but only as an interim arrangement.

\, 4. gorrect.

Question ID : 5096474647
Status : Answered
Chosen Option : 4

jQA For the purpose of higher education of the subscriber’s children, a partial withdrawal from the employee’s contribution
is admissible, which will NOT exceed:

Ans of 1. 25%
X 2. 30%
& 3. 20%
K4 50%

Question ID : 5096474635
Status : Answered
Chosen Option : 1

/ The Union list, the State list and the Concurrent list shall be found in the:
Ans X 1. Fourth Schedule of the Constitution.

& 2. Second Schedule of the constitution.

# 3. First Schedule of the Constitution.

« 4 Seventh Schedule of the Constitution.

Question ID : 5096474630
Status : Answered
Chosen Option : 2

,"6 The Government of India enacted the POCSO Act following the:
Ans X 1. Direction of the Supreme Court of India.

/< 2. Recommendation of the Ministry of Labour.

« 3. UN Convention on Rights of the Child.

75 4. Strike by a group of activists.

Question ID : 5096474631
Status : Answered
Chosen Option : 3

,"7 The Fundamental Duties were included in the Constitution of India by:

Ans of 1. 4274 amendment in 1976.
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& 2. 4904 amendment in 1977
& 3. 40t amendment in 1974.
x4 4()*11 amendment in 1976.

Question ID : 5096474628
Status : Answered
Chosen Option : 1

Ans

, Q.8 Select the most appropriate option for the following statement.

Under the RTT Act, a Member of Parliament or a Member of Legislature of a state can be appointed as the CIC.

/< 1. Correct
\, 2. Incorrect
X 3.

Correct, if he/she is a nominated Member of Parliament or State Legislature

F 8

Correct but he/she will have to resign from his/her Constituency after appointment

Question ID : 5096474663
Status : Answered
Chosen Option : 4

Ans

, @9 The POCSO Act defines a child as any person:

/< 1. below 19 years of age.
o 2. below 18 years of age.
X 3. below 20 years of age.
X 4 below 21 years of age.

Question ID : 5096474632
Status : Answered
Chosen Option : 2

0

called:

Ans X 1. pseudocode

/< 2. opcodes

' 2 mnemonics
/< 4 operands

Q.1 Assembly languages uses small abbreviated English words to define different computer operations. Such words are

Question ID : 5096474613
Status : Answered
Chosen Option : 3

Ans

X 1. Articles 35 to 45,
X 2. Articles 38 to 49,

/.1 The Directive Principles of State policy are enshrined in more than one Article of the Constitution. They are:
1
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X 3. Articles 30 to 35.
o 4 Articles 36 to 51.

Question ID : 5096474641
Status : Answered
Chosen Option : 4

2! What happens when you double-click a file in Windows 7?

Ans X 1. It always opens the file in Notepad

< 2 It deletes the file
< 3. It always opens the file in MS Word

« 4 It opens the file in the default program

Question ID : 5096474622
Status : Answered
Chosen Option : 4

felect the most appropriate option for the following statement.

Ans 3 1. Yes. but only when they relate to defence matters
/< 2. No, it is not true
o 3. Yes, it is true

/< 4 Yes, but only when they relate to finance matters

Cabinet papers including records of deliberation of the Council of Ministers are exempt from disclosure.

Question ID : 5096474660
Status : Answered
Chosen Option : 1

Q.1 N -
s What was the ground for proclaiming emergency in 19757

Ans  of 1 Internal disturbance
/< 2. Political disturbance

/< 3. Financial exigency

/< 4 Threat from external forces

Question ID : 5096474650
Status : Answered
Chosen Option : 1

The NPS shall have two tiers: Tier-I and Tier-IL.
Ans 3 1. Contribution to both Tier-I and Tier-II is mandatory

/< 2. Contribution to Tier-II is mandatory

/< 3. Contribution to Tier-I is optional

1 ; - .
/,5 Select the most appropriate option for the following statement.
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« 4. Contribution to Tier-I is mandatory

Question ID : 5096474640
Status : Answered
Chosen Option : 4

Q.1 When a computer is switched on. it takes some time to get ready. The process to bring a computer system into ready-to-
6 work state is called

Ans X 1. launching
/5 2. screening
« 3. booting
75 4 uploading

Question ID : 5096474605
Status : Answered
Chosen Option : 3

Q.1 Which of the following category of software is used to prevent, detect, and remove malicious programs from your
7 computer system?

Ans X 1. Adware

/< 2. Compression software
« 3. Antivirus

75 4. System software

Question ID : 5096474616
Status : Answered
Chosen Option : 3

/1 The Directive Principles of state policy are provided in which of the following part of the constitution?
8

Ans of 1. Part IV
X 2. Part VI
X 3 PartII
X 4. Part I

Question ID : 5096474642
Status : Answered
Chosen Option : 1

61 Section 10 of the RTI Act defines ‘severability’ clause which essentially means:

Ans X 1. providing the information based on the fees defined.

X 2. denying the information altogether.
v &)

providing the part of information which is not exempt under the Act.

/< 4. providing the information in phases.

[ Question ID : 5096474659
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Status : Answered
Chosen Option : 3

X 2. the IRDA.
/< 3. the market forces.

o 4. the Central government.

%2 Interest for the accumulation under the NPS will be prescribed by:

Ans 3 1. the earnings of the wealth.

Question ID : 5096474636
Status : Answered
Chosen Option : 2

Q1'2 ‘With respect to microprocessor architecture, RISC stands for:
Ans o 1. Reduced Instruction Set Computer

/< 2. Reduced Instruction Size Computer

/< 3. Redundant Instruction Size Computer

/< 4. Redundant Instruction Set Computer

Question ID : 5096474611
Status : Answered
Chosen Option : 1

Ans

o 1343
X 2 244
X 3 342
X 4 243

] ‘Which of the following Articles enshrines ‘The official language of the Union shall be Hindi in Devnagari Script”?
2

Question ID : 5096474648
Status : Answered
Chosen Option : 4

Ans

X1cu

V2 ALU

/< 3. Registers

/< 4 Cache memory

Q.2 Which of the following components of CPU is responsible to perform all mathematical operations?
3

Question ID : 5096474609
Status : Answered
Chosen Option : 2

Q.2 : oy ;
4 Which of the following is NOT an operating system?
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Ans of 1. Safari
X 2. Android
X 3 105
X 4 Windows

Question ID : 5096474618
Status : Answered
Chosen Option : 1

Q.2 If a computer has four memory chips C1, C2, C3, and C4 of 8192KB. 4096GB, 3TB, and 8192MB respectively then
5  which of the chips has the highest data storage capacity?

Ans x1_ C3
X2 C4
v C2
X 4 Cl

Question ID : 5096474624
Status : Answered
Chosen Option : 3

Q.2 While executing instructions of a program, which of the following CPU registers keeps track of the memory address of
6 the instruction that is to be executed next?

Ans  of 1. Program Counter

/< 2. Accumulator

/< 3. Memory Data Register
X 4. Memory Address Register

Question ID : 5096474614
Status : Answered
Chosen Option : 1

Az Which Article describes the existence of the President of India?

Ans X'1.5]a
X 2. 53
X 3 51
o 4 52

Question ID : 5096474646
Status : Answered
Chosen Option : 1

jz The medical examination of a girl child of sexual assault:
Ans o 1. shall be conducted by a lady doctor only.

7< 2. shall be conducted preferably by a lady doctor.

7< 3. shall be conducted by any doctor on emergency duty.
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/< 4. shall be conducted by the civil surgeon only.

Question ID : 5096474656
Status : Answered
Chosen Option : 1

o Select the most appropriate option for the following statement.

‘No child shall be detained in the police station in the night.’
Ans o 1. Correct

/5 2. Correct, but applicable to girl child only

/< 3. Correct, but applicable to mentally retarded child only

X 4 Incorrect

Question ID : 5096474654
Status : Answered
Chosen Option : 1

Q.3 If a Court of Law has expressly forbidden to publish certain information, will it be open for the Chief Information
/7 Commissioner (CIC) to order providing that information to the applicant?
Al

ns X 1.

Yes, the CIC can exercise his power under the RTI Act to order such disclosure

&2

The CIC can issue order to the Registry of the Court to provide such information
v &)

No, it is not open to CIC to order disclosure of such information

X 4

The CIC can evaluate the content of information and then take a decision if the information sought does not atfect the
security of the nation

Question ID : 5096474662
Status : Answered
Chosen Option : 3

Z’ The Right to Property as one of the Fundamental Rights has been eliminated by:

A
"S X 1 45t amendment

v 2 44th amendment
& 3. 499 gmendment

&< 4 20t amendment

Question ID : 5096474629
Status : Answered
Chosen Option : 2

2-3 Under which Article of the Constitution the emergency was proclaimed in 19757

Ans x1_ 3176
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X 2. 360
o 3 352(1)
X 4 350

Question ID : 5096474649
Status : Answered
Chosen Option : 3

’?;3 POCSO stands for;

Ans - X 1. Prevention of Child from Sexual Offences.
X 2. Protection of Child from Sexual Offences.
' 3. Protection of Children from Sexual Offences.
# 4. Prohibition of Child from Sexual Offences.

Question ID : 5096474634
Status : Answered
Chosen Option : 3

Ans X 1. SRAM
& 2. EEPROM
+ 3. FPROM
X 4 SDRAM

Qf Identify the memory type which uses ultraviolet light to erase the written contents.

Question ID : 5096474620
Status : Answered
Chosen Option : 2

Ans  of 1. not be in uniform.

75 2. be in uniform if the officer is a female officer,

/< 3. be necessarily in uniform.

/< 4 be in uniform if the officer is a male officer.

53 Under the POCSO Act, the police officer while recording the statement of the child shall:

Question ID : 5096474633
Status : Answered
Chosen Option : 1

.3 Select the most appropriate option for the following statement.

6 “The medical examination of a child, victim of sexual offence, shall be conducted in the presence of the parent of the

The given statement is:

/< 2. incorrect.
\’ 3. gorrect,

child or any other person in whom the child reposes trust.”

Ans X 1. correct but only for girl child.
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/< 4. correct but only for differently abled child.

Question ID : 5096474655
Status : Answered
Chosen Option : 3

'iif Is storage of pornographic material involving a child an offence?
Ans x 1. No
/< 2. Yes, only when vou are not a book seller

W 3 Yes
X 4

No, when the storage is done by obtaining the approval of the Competent Authority

Question ID : 5096474652
Status : Answered
Chosen Option : 3

%3 Which of the following is NOT a default library in Windows 7?

Ans X 1. Documents
X 2. Music

X 3. Pictures

o 4 Programs

Question ID : 5096474621
Status : Answered
Chosen Option : 4

é?’ The salaries and allowance payable to the CIC shall be the same as that of:
Ans  of 1. the Chief Election Commissioner.
/< 2. the Chief Justice of a High Court.

# 3. the Chief Justice of India.
/< 4. the Cabinet Secretary to the Government of India.

Question ID : 5096474664
Status : Answered
Chosen Option : 4

Q.4 Which of the following statements is/are FALSE?
0

(i) A computer system can be used without any operating system to execute user tasks.
(ii) Operating system can be considered as a resource manager.

Ans X 1. Only (i)
v 2 Only (i)
/< 3. Both (i) and (ii)
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75 4 Neither (i) nor (ii)

Question ID : 5096474615
Status : Answered
Chosen Option : 2

Q.4 Every CPU has its own set of that are used to store data and addresses during ALU operations.

1
Ans 3 1. hard disks

X 2. ROM
« 3. Registers
/< 4 magnetic tapes

Question ID : 5096474610
Status : Answered
Chosen Option : 3

Q.4 MICR devices are used by banks for faster processing of cheques. Which of the following is the most popular and

2 commonly used font in MICR devices?

Ans X 1. EBCDIC
X 2. Unicode
X 3. ASCII
« 4 E13B

Question ID : 5096474625
Status : Answered
Chosen Option : 1

%4 ‘Which of the following is also called word processor?

Ans X 1. Microsoft Excel
' 2. Microsoft Word
& 3. Microsoft Access
X 4 Microsoft PowerPoint

Question ID : 5096474617
Status : Answered
Chosen Option : 2

Q.4 When a computer is started (switched on), the operating system is usually loaded from

4
Ans 3 1. main memory, hard disk

/< 2. main memory, cache memory
o 2 hard disk, main memory
7< 4. cache memory, hard disk

to

Question ID : 5096474607
Status : Answered
Chosen Option : 3
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Q.4 Each computer must have a/an , which enables it to run other application programs installed on the computer.

5
Ans X 1. spreadsheet

« 2. operating system
< 3. Word processor

/< 4 antivirus

Question ID : 5096474606
Status : Answered
Chosen Option : 2

A“ The Government of India Act was enacted in the vear:

Ans X 1. 1890
v 2 1858
X 3. 1880
X 4 1911

Question ID : 5096474626
Status : Answered
Chosen Option : 2

/ Q_{-4 ‘While recording the statement of a child, the police officer recording the statement:
Ans  of 1. shall NOT be in uniform.

7< 2. shall use only minimum required uniform.

/< 3. shall wear only the police cap.

X 4. shall be in uniform as usual.

Question ID : 5096474653
Status : Answered
Chosen Option : 1

Q.4 When a Windows computer system gets hanged while working, we usually restart the system by pressing Cul + Alt
8  Del or through some other commands, but without interrupting the power. This process is called

Ans X 1. hard boot
o' 2. warm boot
X 3. cold boot
/< 4. both, cold and hard boot

Question ID : 5096474608
Status : Answered
Chosen Option : 2

/Qé“ NPS shall allot pension account to:

Ans X 1. a group of subscribers based on department.
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/< 2. a department of the government.
/< 3. a group of subscriber based on investment practice.

o 4 every subscriber.

Question ID : 5096474637
Status : Answered
Chosen Option : 3

Qd5 The Constitution of India has embodied a number of Fundamental Rights in:

Ans X 1. Part-II of the Constitution.
o 2. Part-III of the Constitution.
# 3. Part-VII of the Constitution.
X 4 Part-I of the Constitution.

Question ID : 5096474627
Status : Answered
Chosen Option : 1

Q.5 What is the minimum age prescribed for appointment of Judge of the Supreme Court of India?
1

Ans 1. 50 vears
/< 2. 55 years
+ 3. No minimum age

/X 4. 45 years

Question ID : 5096474644
Status : Answered
Chosen Option : 3

Qz-5 Select the most appropriate eption for the following statement.
/ The Pension Fund Manager shall have the liberty to invest the fund outside India.

Ans - X 1. Yes, only in Nepal and Sri Lanka

75 2. Yes, only in MNC located in any Country
X 3. Yes

W 4 No

Question ID : 5096474638
Status : Answered
Chosen Option : 3

Qf Expand the term SDRAM with respect to computer memory.
Ans 3 1. Synchronous Dynamic Random Accelerating Memory
+ 2. Synchronous Dynamic Random Access Memory

/< 3. Static Dynamic Random Accelerating Memory
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/< 4. Static Dvnamic Random Access Memory

Question ID : 5096474619
Status : Answered
Chosen Option : 2

/3-5 Select the most appropriate option for the following statement.
4
‘Sexual interest’ is the single most important reason under the POCSO Act to invite action.”

Ans  of 1. Yes, it is correct

X 2

No, it can invite action even if child is stalked, with any intention

F 3

No, it can invite action if a person follows a child, no matter what is his interest

/< 4. No, it is not correct

Question ID : 5096474651
Status : Answered
Chosen Option : 1

If’ The PFRDA shall be liable to pay:

Ans  of 1. neither income tax nor the wealth tax.
X 2. Income tax.
X 3. Wealth tax.
/< 4. only income tax and not the wealth tax.

Question ID : 5096474639
Status : Answered
Chosen Option : 2

Qé5 ‘With respect to microprocessor architecture, CISC stands for;
Ans X 1. Complimentary Instruction Set Computer

75 2. Complimentary Instruction Size Computer

/< 3. Complex Instruction Size Computer

« 4 Complex Instruction Set Computer

Question ID : 5096474612
Status : Answered
Chosen Option : 4

Q.5 In Windows 7. when your desktop is cluttered with open windows, you can use feature to select a single
7 window and close the rest.

Ans x 1. Flip
X 2. Peck
/< 3. Snap
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o % Shake

Question ID : 5096474623
Status : Answered
Chosen Option : 1

.5 The request under RTI should be disposed of by the CPIO as early as possible and within of receipt of request.
8

Ans X 1. 35 days
/5 2. 20 days
/< 3. 40 days
o 4 30 days

Question ID : 5096474661
Status : Answered
Chosen Option : 4

}-5 ‘Which of the following options does NOT constitute a Public Authority under the RTI Act?
9

Ans x 1.
Any institution established under any Act framed by State Legislature

W2

Non-government organisation not financed by the Appropriate government

F 3

Any establishment formed by notification by the appropriate government
/< 4 Any authority constituted under the Constitution

Question ID : 5096474658
Status : Answered
Chosen Option : 2

Q.6 ‘The Directives Principles of State Policy are not enforceable in the Courts and do not create any justiciable rights in
’ 0 favour of an individual.”

The given statement is:

Ans 1. incorrect.

& 2. correct only after the 4274 amendment of the Constitution.

< 3. correct only after the 44™ amendment of the Constitution.

\’ 4. gorrect.

Question ID : 5096474643
Status : Answered
Chosen Option : 1
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